Ki, Mobility

N
Rogue2 Caster Mount
|‘/_j-‘ B \:i/'
> @
ON | L
L8P
W Y
Ih\:'l YE-"J
O\
(8) ka'}:)
@ R
TG @
w2
>
; '?:Bi:jl
ltem Number  Part Number  Description Quantity
1.2 3a 4-10 |117593 )(ggster Wing Mechanism, Right, Rogue2 / Rogue 1
1.2, 3b,4-10 |117594 )cggster Wing Mechanism, Left, Rogue2 / Rogue 1
1,2, 3a, 3b, 4- 117595 Caster Wing Mechanism, Pair, Rogue2 / Rogue 1
10 XP
1 115762 Caster Wing Cover - Outer 2
2 113987 Caster Lock Threaded Barrel 2
3a 114025 Caster Lock Barrel, Right 1
3b 114026 Caster Lock Barrel, Left 1
4 114044 Shcs, M5X0.8X25, Blk Oxide, Stainless Steel 2
5 113982 Caster Wing Cover - Inner 2
6 114024 Phms, M4X0.7 X 40, Phl, Black Ox, 18-8, Din 2
7985
7 113983 BHCS, M6 x1.0 x 55, Black Oxide, 18-8, Iso 7380 2

08-06-2025



Item Number

Part Number  Description Quantity
8 114043 Washer, Flat, M6, Blk Oxide, Stainless Steel 2
9 113985 Caster Lock Saddle 2
10 114023 Nut, Hex, M6X1.0, Nylok, Stainless Steel 2

08-06-2025




